
كلية الزراعة–الوراثة قسم 
جامعة بني سويف 



:مقدمة

هرا   لهر  منذ فجر التاريخ سخر البشر كثيرر مرا الاردارل العبي يرت التر  من 

أت منررذ ف لاقررت البشررر مررة عرحيررت ال يرردا  حرر , لتسررهيح ايرراعه  هذررا رررذ  ا ر 

ررا لخ متر  ألاف السنيا ايث استأنس الإنسا  كثيرا ما ال يدانات البريت وسرخ

وانتفة ما إنتاجها

سررنت قبررح 8000الررا 6000الااشرريت عرر  استهناسررها فرر  اسرريا وافري يررا مررا حرريا 1)

الايلال

سنت ف  مناطق مختذفت ما ال ال 12000الكلاب استأنست منذ ادال  2)

ا الخيررح ااترراا النررا  فرر  عررن لاعه  إلررا مررا ي يررنه  وي اررح مترراهه  فاستأنسررد3)

والجاال وغيررا

ت التر  لأب ملاك ال يدانات هذا اختيرار افلرح ايدانراعه  حنراى هذرا ال رفا4)

يرغبدنها لتكد  أحاى للأجيال اللاا ت



ا النظرر فر  ولرد أم نر. كح رذ  ال اذيات عات خلال فترة زمنيت طديذت ول  عبنا هذا أسرس هذايرت باحترت

 الانتخرراب فاررثلا, هشررا ر ال يدانررات البريررت لدجرر نا ا  كثيرررا منهررا ع رقررت لكثيررر مررا قررد  الت ييررر

ت للافتررا  العبي   الذ  ي  ث لذ يدانات الت  ع اح هدامح ورابيرت ع ذرح مرا ايديتهرا فتكرد  هرقر

ت يررات الفجا يرت أيلرا ا ردل كثيرر مرا ال, وحذلك ع ح فرصتها ف  نشر عركيبها الدراب  فر  ال شريرة

ا الترأقذ  مرة ف  ح ض التركيب الدرابيت وظهدر صفات ج ي ة عساه  ح ض ال يدانرات هذر( العفرات)

 ييرر وانت ال ال يدانرات مرا منع رت إلرا منع رت أخررت أسرهات كرح ررذ  ال رد  هذرا ع, حيهتها الخارجيت

.السنياالآفالكثير ما ال فات لكثير ما ال يدانات هاا كانت هذي  منذ 

ين علم الوراثة وتربيةة الييةواي دفةدس سا اة  تلةي تعليةا علةم الوراثةة بفةدس تي ة

ا الفةر  ودعتلر علمي الإحص ء الييوي والوراثةة سا اة   ةي تنةودن  ة , صف ت الييواي

وبة  ةي العلمي ال ي من خلاله تمنن العلم ء من درااة وتقييم النثير من الصف ت المرغ

يةةة الييةةواي الاراعةةي وبدبةةة وليةةرس والتةةي اةةفلن علةةي المةةربين اترةة   س ةةم بةةرارات ترب

ااوج الييةةواي بتيددةةد الييوااةة ت التةةي اتصةةلي  بةة ء للايةةا القةة دت واختيةة ر  ةةر  التةة

.الملائمة للرامافم التي ينية



ماار  ودقصد ب لييواا ت الاراعية  ي ماموعة الييواا ت التي اتلقي  ي ال

:وتربي من اجا

مثل اللحوم والألبان والصوف والحصول على بعضالحصول على المنتجات الرئيسية1.
:راض هيالمنتجات الثانوية الأخرى كالجلود والسماد والحيوانات المستخدمة لهذه الاغ

- Goatsالماعز- Sheepالاغنام-Buffaloesالجاموس–Cattleالابقار
Camelsالجمال

يوانات العمل في المزرعة لاستخدام بعض الحيوانات في الحرث والحمل والجر والح2.
والبغال Donkeyوالحمير Horseالخيول: المستخدمة في مثل هذه الاعمال هي

Mule



Genetic Improvement: تعريف التحسين الوراثي

يرت وعناسرذيت مجادهت ما الدسا ح ال ذايت الت  عستخ م لانت اى ايدانات ذات صفات إنتاج

ت انت ح ر ل مرا جي ة وإكثاررا ح يت ع سينها كااً وندهاً هذا م ت ا جيال الاتتاليت، حالاسر

ال ذرررررررررررررررردم مثررررررررررررررررح الدرابررررررررررررررررت وفيسرررررررررررررررريدلدجيت التكررررررررررررررررابر والإا رررررررررررررررراى

.وغيررا

  الردراب  الاالة الدرابيت عنت ح إلرا ا حنراى ايرث يسرار  كرح أب حن رب عركيبر

حهيهرررت ويتايرررل كرررح جرررنس. وحالترررال  عنت رررح ال رررفات هبرررر ا جيرررال الات اقبرررت

ومررررررا الجرررررر ير حالررررررذكر ا  ال رررررر ل karyotypeكرومدسرررررردمي  م رررررر لة  

الكرومدسدم  لا يرعبط ح ج  و لرجت ععدر ال يدا 



العدد الكروموسوميالحيوانالعدد الكروموسوميالحيوانالعدد الكروموسوميالحيوان

60الماعز64الحصان44الأرانب

60الماشية78الدجاج74الجمل

80الرومي80البط54الأغنام

:اعيةوفيما يلي جدول يوضح أعداد الكروموسومات في بعض الحيوانات الزر 



:سيين هماوهذه الصفات المنقولة من الآباء إلى الأبناء يمكن تقسيمها إلى نوعين أسا

(:ب يعة)صف ت شنلية سو وصفية 

ذريلا أو م ر وما رذ  ال فات يت ك  حها ه ل قذيح ما الجينات ويكد  عأبير البيهت فيهرا ق

, ت لرد  الشر روعتبة ف  عدريثها وان لالها ال داه  الان ليت حشكح واقح وما أمثذتهرا صرف

, لت رلما, ال ارا, الكثير مرا ا مررا  الدرابيرت مثرح قر م الب رح فر  ا ح رار, وجدل ال رو 

.التداى الذيح

(:المرولة)الصف ت النمية 

 additiveاف ر  ال فات الت  عتأبر ح  ل كبير ما الجينات او ا ليلات والت  لها عرأبير صر ير ملر

effectت ذات وعذ ررب البيهررت لورا كبيرررا فرر  ع  يرر  مظهررر رررذ  ال ررفات وغالبررا مررا عكررد  رررذ  ال ررفا

وي تار  . جسر وز  ال, نسربت الر را فر  ال ذيرب, أرايت اقت اليت كبيرة وما أمثذتها صفت إنتراا ال ذيرب

  ال عيررة ع سرريا رررذ  ال ررفات هذررا قياسررها ح قررت والاسررتفالة مررا ال لاقررات وال راحررت حرريا ال يدانررات فرر

.الارال ع سين 



Breed and animal populationالسلالة و العشيرة الحيوانية 

ال لالة

رعرب ر  مجادهت ما ال يدانات عنتا  إل  ندع واار  وعنشرأ فر  منع رت م ينرت وع

والإنتراا هذا ذلك أ  عتاابح فيها صفات الذد  والشكح والالامرح وال جر  والخ ردحت

إل  ا  كبير يتيح عايلرا ها حاق  السلالات ا خرت لذندع نفس 

العشيرس الييوااية

 يررة أو ر  هبارة ها مجادهت ما ال يدانات عشترك فياا حينها ف  صفت مت
صر يراً، أو Herdأكثرر وياكرا أ  عترلاوا فيارا حينهرا لرذا ف ر  عكرد  قعي را 

حأكاذ Species، أو ندها Breedقعي ا كبيراً، وق  عكد  سلالت 



اشأس ال لالات وتب مة جمعي ت ال لالات 

الم شية1.
تمتخ  كااشيتحهدلن افريللان م اط تف :Friesianالفريليا سلالتنشأت-أ

ذبرولةلما حم ت لجدمامناسبتمناخيتظروفلذسلالتيتدافرايثالذباف 
.الخلراىالاراه وكثرة

س جيرجليرةف نشأتوالت ا صيذتالذباماشيتما:Jerseyالجيرس سلالت-ب

إنتاااتصفلت سياالانتخابفيهاع الت السلالاتأق مماور الاانشحب ر
.الذبا

Herefordالهيرفدرلسلالت-ا راحإنجذتريرفدرلم اط تف نشأتالذ  ماشيتما:

.الذ  إنتاال ر الا سنتالإنجذيليتالسلالاتأق مماورد
ع تخاحهاانتوع الهن ف نشأتوالت والذببالسنامذاتا ح ارمارارياناسلالت-ل

.لذ احأساساوعستخ مال ارالاناخظروف



اشأس ال لالات وتب مة جمعي ت ال لالات 

الأغن ت 2.
Merinoالاريندسلالت أ- ومراه ارع اليتع ت ظروف رهديت أسبانيانشأت ف   :

.فم  ولة الجدلة وظروف مناخيت م ت لت وع  الانتخاب فيها ل فات إنتاا ال د
Suffolkالسفدلكسلالت -ب نشأت ف  حريعانيا ع ت ظروف مناخيت ورهديت جي ة  :

 .وع  الانتخاب فيها ل فات إنتاا الذ  
الم عا 3.

Damascusال مش  سلالتأ- وع م ت لتورهديتمناخيتظروفع تالشامف نشأت:

.الداا ةلالةالدف الخذفته لكثرةف متاثذتوالذ  الذباإنتاال فاتفيهاالانتخاب
Angoraا نجدراسلالت-ب ذتومابحالشتا،م تالتمناخيتظروفع تعركياف نشأت:

سااالاالجي الش رل فاتفيهاالانتخابوع وهرةوعلاريسحال يبلذ دارة
.حالادرير



اشأس ال لالات وتب مة جمعي ت ال لالات 

اليص ي 4.

هرة مة نشأ ال  ا  ال رح  ف  الجليرة ال رحيت ع ت ظروف مناخيت اارة وعلاريس و
 .ه م عدافر الاره  وال ذب ا خلر

الدج ج 5.

نشأت ع ت ظروف اد  الب ر الاتدسط الا ت لت وع   :ا حيضالذيجهدر سلالت أ-

.الانتخاب فيها ل فات إنتاا البيض
Barred plymouthروك الاخعط البذيادثسلالت -ب rock نشأت ف  الدلايات الات  ة  :

ا مريكيت ع ت ظروف م ت لت وع  الانتخاب فيها ل فات إنتاا البيض والذ  

الأرااب 6.

م مررا ١٩٢٥سررلالت النيدزيذنرر   ا حرريض الاسررتنبعت فرر  الدلايررات الات رر ة ا مريكيررت هررام 
.رومة ا مريك  ا حيض ب  الانتخاب ل فات الذ   والفا نجدرامة الفذاشخذط 



تنودن جمعي ت التربية 

خلالنمو لكالمرتلفةالاراعيةالييواا ت يالوراثيالتي ينالرئي ي د ف جمعي ت ي

ي ينالت ياليددثةالييودةالتقني تااترداتودمننالمنويال  ئاوحفظلامعمراواتب مة

  هت   مت والوزاراتالليثيةوالمراواالا مع تخلالمنالتربيةجمعي تتنودنوتم.الوراثي

:ةالت ليالأغراضبتيقيقف الاراعيةالييواا توتي ينتربيةما لتعودر يالامعي ت
 .تيددد صف ت ال لالة وتي ينف 1.
.تل دل الرلرات بين المربين2.
.الإرش د والتوجيه لم  د تاد من وا ئا تربية و ر  تي ين حددثة3.
.مني الاوائا وتشايع المربين المتفوبين باوائا م ددة ماادة4.
لم عا تيددد س داس التي ين الوراثي لنا الالة سو علي الأبا لأ م الالات الأبق ر سو الأغن ت سو ا5.

.سو الإبا سو سي حيواا ت سخرى
.تاش ء بنك للمعلوم ت لإجراء التقييم الوراثي بتقددر القيم التربودة6.
.توزدع الاين ت من خلال التلقيي الاصعن عي واقا الأجنة والااتن  خ7.



تيددد الانس  ي الييواا ت الاراعية والدواجن

Chromosomes
Sex chromosomesAutosomes

Homologous Heterologous

Heterogametic sex 

chromosome

Homogametic sex 

chromosome 



لة في في الثدييات تكون كروموسومات الجنس متماثلة في الإناث وغير متماث•
الذكور

ولا أما في الطيور فيحدث العكس إذ تتماثل كروموسومات الجنس في الذكور•
تتماثل في الإناث

Z-Chromosomeأما ف  العيدر فيساا  X-Chromosomeف  الث ييات ❑

W-Chromosomeأما ف  العيدر فيساا Y-Chromosomeف  الث ييات ❑

XXأنثا الث يياتXYذكدر الث ييات

ZZذكدر العيدرZWإناث العيدر. 



:بق رتيددد الانس وراثي ً  ي الأ



:بق رتيددد الانس وراثي ً  ي الأ



مص در التل دن الوراثي

P=G+E

σ2
P= σ2

G+ σ2
E

σ2
P= σ2

A+ σ2
D+σ2

I+ σ2
PE+ σ2

TE

A= Additive effect

D= Dominance effect

I= Interaction effect

PE= Permanent Environmental effect

TE= Temporary Environmental effect



❑ Additive effect

❑ Dominance effect

❑ Interaction effect OR Epistasis

أنوع ونسب الجاميطات التي ينتجها الفرد 

 2nيعطي الفرد الخليط في جيناته أنوع مختلفة من الجاميطات ❖

شيرة ما في العشائر الحيوانية عشوائية التزاوج يكون عدد أنماط الجاميطات التي تعطيها ع❖

.مساويا لأعداد الجاميطات التي تعطيها الأفراد الخليطة في هذه العشيرة





اثيإة عندما تتزاوج أفراد خليطه في أكثر من زوج من الأليلات فإنن عإدد أنإوع التراكيإب الور❖

وتكإإون نسإإبة هإإذه التراكيإإب لبع إإها 3nالممكنإإة فإإي الجيإإل النإإاتس يكإإون مسإإاويا لل يمإإة  

عدد أزواج الأليلات الخليطةnحيث n(1:2:1)مساويا للنسبة  

(1:3)

Additive effect

نسإإب مجإإاميه ماهإإر الصإإفة فإإي

يإب الجيل النإاتس هإي نسإب التراك

ذا الوراثية المتوقعة نفسها من هإ

n(1:2:1)التزاوج 

Dominance effect

(1:3)n

Dominance effect + Additive effect

(1:2:1)m X (1:3)n



:الضيقبالمعنىالوراثيالمكافئ❑
additiveالمضافالوراثيالتبايننسبةعنيعبروهو effectالكليالمظهري التباينإلىللجينات

.الصحيحالواحدإلىصفرمنقيمتهوتتراوحللصفة

:Heritability (h2)المكافئ الوراثي 1.

σ2
A / σ2

P =h2

:المكافئ الوراثي بالمعنى الواسع❑

إلى التباين( للجيناتوالتفوقيو السيادي additive effectالتأثير المضاف )عبارة عن التباين الوراثي الكلي 
المظهري الكلي وهو محدود الاستخدام

σ2
G / σ2

P =h2



الكليهريالماالتباينإلىالدائمالبيئيوالتباينالكليالوراثيالتبايننسبةعنعبارةوهو

ساوييأومناكبرالتكراريالمعامليكونوعادةالصحيحالواحدإلىصفرمنقيمتهوتتراوح

الوراثيالمكافئ

:Repeatabilityالمعامل التكراري 2.

 ((σ2
P/ ((σ2

G + σ2
PE=R



:ايجاد عدد ازواج الجينات التي تحكم الصفة

n= D2 / σ2f2 - σ2f1

المردود الانتخابي 
ΔG= Kh2

n.sσ
2 P

)ثابت الانتخاب( Kشدة الانتخاب في المجتمه% 

2%2.42

5%2.06

10%1.76



E 2σويفية ح  ب التأثير التل دن الليئي

مرجعه الى الاروف دنوي Homozygousالتل دن داخا الاب ء الن تاة من الالات اقية وراثي  1)

.البيئية وليس الى اي سبب وراثي

سدض ً تنوي راجعة الي الت ثير الليئي  F1الاختلا  ت داخا ال ت ت الماتمع النل تي لـ 2)

للصفة 2pاي التل دن بين ال ت ت الايا الث اي  و اف ه تل دن الشنا المظفري 3)

=σ2F2σ2p:المدرواة  ي الماتمع النل تي المعين اي 

σ2G +  σ2Eσ2p=

σ2G +  σ2Eσ2F2=



فان التاثيرات البيئية ستحسبووا منفم  من الالة اقية  p2و  p1 عند تفاين ابودن 

𝐄 =
𝐏𝟏+ 𝐏𝟐

𝟐 σ𝟐𝐄 =
σ𝟐𝐏𝟏+ σ𝟐𝐏𝟐

𝟐

σ𝟐𝐄 =
σ𝟐𝐏𝟏+ σ𝟐𝐏𝟐+ σ𝟐𝐏𝟏

𝟐
𝐄 =

𝐏𝟏+ 𝐏𝟐 + 𝐅𝟏

𝟐







طرق التحسين الوراثي

يإإل ال إإادم بعإإد أن يإإتم ت يإإيم الحيوانإإات وراثيإإا وتحديإإد أف إإلها لتكإإون  بإإا  للج

ات الجينإإ( تكإإرار)ن إإوم باختيإإار طإإرق التإإزاوج المناسإإبة بهإإدف زيإإادة نسإإبة 

رار ان زيإإادة تكإإ. المرغوبإإة لصإإفة مإإا فإإي العشإإيرة او ال طيإإه المإإراد تحسإإينه

صول الجينات للصفات المرغوبة هو الهدف الاساسي لمربي الحيوان وذلك للح

يإة على حيوانات ذات انتاج عالي وتحتاج الى حد ادنإي مإن الرعايإة وتكإون قو

الجسإإإم وذات صإإإفات شإإإكلية جيإإإدة ولإإإديها ال إإإدرة علإإإى م اومإإإة الكثيإإإر مإإإن 

الامراض وتتميز بطول الحياة الانتاجية



طرق التحسين الوراثي

الهجرةالطفراتالانتخاب

أنامة التزاوج

Inbreedingالتربية الداخلية 1.

Linebreeding(تربية الخطوط)التربية الخطية 2.

Crossbreedingخلط السلالات 3.



أنامة التزاوج

Crossbreedingخلط السلالات 

rotational crossing

backcrossing 

Grading upالتدريس  

حل محإل هي إ افة دما  سلالة إلى سلالة أخري واستبدالها تدريجيا جيلا بعد جيل حتى ت

لالة السلالة الأخرى والتدريس يكون امإا بحيوانإات مإن نفإس السإلالة او بحيوانإات مإن سإ

ويإإتم بمزاوجإإة ذكإإور. اخإإرى ويلجإإذ لهإإذا الناإإام لسإإد الإإن إ النإإاتس فإإي إنإإاث سإإلالة مإإا

يالالسلالة المراد الحصول على إناث منها بنناث السلالة نفسها او سلالة أخرى لعدة أج



نسبة سلالة الذكور في النسلالاناثالذكورالجيل

1BA50%

2B0.5A0.5B75%

3B0.25A0.75B88%

4B0.12A 0.88B94%

5B0.06A 0.94B97%

وبذلك يإتم سإد الإن إ Bمن دما  السلالة % 97وبذلك نكون حصلنا على إناث تحمل حوالي 

.Bالناتس عن موت أو مرض أو صيد جائر أو منه استيراد السلالة 









































• Genetic variation in natural 
population typically 
changes over many 
generations

• Changes in gene pool



MUTATIONS

• Random events that occur spontaneously at a low rate or are caused by 
mutagens at a higher rate

• Mutations can provide new alleles to a population but do not substantially 
alter allele frequencies



MUTATIONS – AN EXAMPLE

• Mutation rate – probability that gene will be altered 
by a new mutation 
• 10-5 to 10-6 per generation

• How much does mutation affect allele frequency?

• Consider a mutation that converts A to a where the 
allele frequency of “A” = p and the allele frequency 
of “a” = q



MUTATION – AN EXMPLE

• Consider that Dq = mp (p decreases as A is converted to a)

• Let’s assume:  p = frequency of A = 80%; q = frequency of a = 20%

• Assume m (rate of conversion of A to a) = 10-5

• To calculate change in allele frequency
• (1-m)t = (pt/p0) 

• pt = allele frequency of A at time t; p0 = allele frequency of A at time 0; t = time; m 
= mutation rate



MUTATIONS – AN EXAMPLE

• What would be the allele frequency of p after 1
generation?  
• (1-10-5)1 = pt/0.8

• p1 = 0.799992

• q1 = 0.200008

• What would be the allele frequency of p after 1000
generations?  
• (1-10-5)1000 = pt/0.8

• p1000 = 0.792

• q1000 = 0.208

• Notice that the change in allele frequency is very low.



GENETIC DRIFT

• Changes in allele 
frequencies due to 
random fluctuations

• Small sample size

• Large fluctuations 
between generations

• Allele eliminated or 
fixed at 100% over 
fewer generations

• Large sample size

• Random sampling has 
smaller effect



NEW ALLELE FIXATION / ELIMINATION

• Must first calculate the expected number of new 
mutations 

• Depends on mutation rate (μ) and population size (N)

• 2Nμ

• Note:  New mutation is more likely in a large population

• Probability of fixation = 1/2N

• Probability of elimination = 1- (1/2N)



NEW ALLELE FIXATION / ELIMINATION

• Probability of fixation = 1/2N

• Probability of elimination = 1- (1/2N)

• Large population

• Greater likelihood for mutation

• But, greater likelihood that new mutation will be 
eliminated from the population

• Small population

• Decreased likelihood for mutation

• But, greater likelihood that new mutation will be fixed in 
the population



HOW LONG WILL FIXATION TAKE?

• ṫ = average # of generations to achieve fixation

• ṫ = 4N

• Note:  Allele fixation takes much longer in larger populations



GENETIC DRIFT – TAKE HOME 
MESSAGE

• Operates in random manner with regard to allele frequency

• Regardless of the type of allele

• Deleterious, neutral, beneficial

• Eventually leads to allele fixation or elimination

• Occurs more quickly in smaller population



CHANGES IN POPULATION SIZE 
AND GENETIC DRIFT

• Bottleneck effect

• Decrease in population size because of events such as 
earthquake, drought, destruction of habitat

• Elimination without regard to genetic composition 

• Founder effect

• Migration of small group of individuals to new location

• Small group may not have same genetic composition as 
parent population



BOTTLENECK EFFECT

Low genetic variation thought to be due 

to previous bottleneck

An example:



FOUNDER EFFECT

• An example:

• Old Order Amish in Lancaster County, PA

• 1770:  3 couples immigrated to US

• 1960:  800 individuals

• Very high prevalence of recessive form of dwarfism

• Thought that one of original ancestors carried recessive mutation or new mutation 
occurred early on



MIGRATION

• Between two different established populations 

• May alter allele frequencies

• New population (after migration) = conglomerate

• Change in allele frequency in conglomerate 

DpC = m(pD-pR)

m = proportion of migrants that make up conglomerate

pD = allele frequency in donor population

pR = allele frequency in original recipient population



MIGRATION – AN EXAMPLE

• A donor population has an “A” allele frequency of 0.7.  A recipient 
population has an “A” allele frequency of 0.3.  20 people join the recipient 
population which originally had 80 members.  What is the allele frequency in 
the conglomerate?



MIGRATION – AN EXAMPLE

DpC = m(pD-pR)

• m = 20/(20+80)

• pD = 0.7

• pR  = 0.3

DpC = 0.2(0.7-0.3) = 0.08

pC = allele frequency in conglomerate

pC = pR + DpC = 0.3 + 0.08 = 0.038



MIGRATION

• Often bidirectional flow

• Tends to reduce differences in allele frequencies between neighboring 
populations



NATURAL SELECTION

• Conditions found in nature result in the selective survival and reproduction of 
individuals whose characteristics make them well adapted to their 
environment

• Surviving individuals are more likely to reproduce and contribute offspring to 
the next generation



• Must consider Darwinian fitness

• Relative likelihood that a phenotype will survive and contribute 
to the gene pool of the next generation

• measure of reproductive superiority

• Not same as physical fitness

• Consider a gene with two alleles, A and a

• The three genotypic classes can be assigned fitness values 
according to their reproductive potential



• Suppose the average reproductive success is

• AA→ 5 offspring

• Aa→ 4 offspring

• aa→ 1 offspring

• By convention, the gene with the highest reproductive 
ability is given fitness value of 1.0 

• The fitness values of the other genotypes are assigned relative 
to 1 

• Fitness values are denoted by  the variable W

• Fitness of AA: WAA = 1.0

• Fitness of Aa: WAa = 4/5 = 0.8

• Fitness of aa: Waa = 1/5 = 0.2



• Differences in reproductive achievement could be due to the

• 1.  Fittest phenotype is more likely to survive 

• 2.  Fittest phenotype is more likely to mate

• 3.  Fittest phenotype is more fertile



• Natural selection acts on phenotypes (which are derived 
from an individual’s genotype)

• With regard to quantitative traits, there are four ways that 
natural selection may operate

• 1.  Directional selection

• Favors the survival of one extreme phenotype that is better 
adapted to an environmental condition

• 2. Stabilizing selection

• Favors the survival of individuals with intermediate phenotypes

• 3. Disruptive (or diversifying) selection

• Favors the survival of two (or more) different phenotypes

• 4.  Balancing

• Favors the maintenance of two or more alleles



• Directional Selection favor extreme phenotype

• A gene exist in two alleles A and a

• The three fitness values are

• WAA = 1.0

• WAa = 0.8

• Waa = 0.2

• In the next generation, the HW equilibrium will be modified in the 
following way by directional selection:

• Frequency of AA: p2WAA

• Frequency of Aa: 2pqWAa

• Frequency of aa: q2Waa



• These three terms may not add up to 1.0, as they would in the 
HW equilibrium

• Instead, they sum to a value known as the mean fitness of the 
population

• p2WAA + 2pqWAa + q2Waa  = W

– Divide both sides of the equation by the mean fitness of 

the population

p2WAA

W

2pqWAa

W

+
q2Waa

W

+ = 1

– Now, calculate the expected genotype and allele 

frequencies after one generation of natural selection



• Frequency of AA genotype = 
p2WAA

W

– Frequency of Aa genotype = 
2pqWAa

W

– Frequency of aa genotype = 
q2Waa

W

– Allele frequency of A: pA =  
p2WAA

W

pqWAa

W

+

– Allele frequency of a: qa = 
q2Waa

W

pqWAa

W

+



• Example:

• Starting allele frequencies are A = 0.5 and a = 0.5

• Fitness values are 1.0, 0.8 and 0.2 for genotypes AA, Aa and 
aa, respectively

• p2WAA + 2pqWAa + q2Waa  = W

– After one generation of selection:

W = (0.5)2(1) + 2(0.5)(0.5)(0.8) + (0.5)2(0.2)

= 0.25 + 0.4 +  0.05

= 0.7



• Frequency of AA genotype = 
p2WAA

W

– Frequency of Aa genotype = 
2pqWAa

W

– Frequency of aa genotype = 
q2Waa

W

– Allele frequency of A: pA =  
p2WAA

W

pqWAa

W

+

– Allele frequency of a: qa = 
q2Waa

W

pqWAa

W

+

=
(0.5)2(1)

0.7
= 0.36

= 0.57
2(0.5)(0.5)(0.8)

0.7
=

=
(0.5)2(0.2)

0.7
= 0.07

= 0.36 +  0.57/2 =  0.64

= 0.07 +  0.57/2 =  0.36



• After one generation

• f(A) has increased from 0.5 to 0.64

• f(a) has decreased from 0.5 to 0.36

• This is because the AA genotype has the highest fitness

• Natural selection raises the mean fitness of the population

• Assuming the individual fitness values are constant

p2WAA + 2pqWAa + q2WaaW =

=  (0.64)2(1) + 2(0.64)(0.36)(0.8) + (0.36)2(0.2)

=  0.80



General trend 

• increase A, decrease a, and increase the mean fitness of the 
population


